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YEAR 1999
By how much does .fiz.fis

exceed 5.z 7?
G5 8 7.y e afuw 2

(@) 2(¥5-+2)  (b) 2(V5+42)
(c) J3+2y2 (d) v3-242

The value of f5, o/ -
;}5+2J_

J5+246 -1 =1 WR TR

J5+2v6

(b) 23

(d) V5-1

24+§/§+i‘f2—8isr

5 e o

(@) 12 (b) 16(c) 18(d) 24
od30- 3Ya + /500 1s equal to :

o¥32— 3¥2 + Y00 ® TR 27

(@) o2
(c) 1+»J§

(@) 4306 b) 324

© 6% (d) 916
Simplify :

TS HE

@ 555 ) 2-svs

(c) 1 (d) O

The value of {243)0'16 (243 }fo'o4 1S
equal to:

(243)0'16 x(243)0'n4 & "WA fHas
Eucid ¥

(@) 0.16 ()3 (c) 5 (d)0.04

9. Simplify ( & X )

7. The value of (256)°'% x(256)" is
(256)°16 x (256)°2° =1 WH FI1 &7
(a) 256.25 (b) 64 (c) 16 (d) 4
The simplification of
0.06x0.06 x 0.06 -0.05x0.05x0.05
0.06x0.06+0.06 x0.05+ 0.05x0.05

0.06 x 0.06 x 0.06 — 0.05 x 0.05 x 0.05
0.06 x 0.06 + 0.06 x0.05+ 0.05 x 0,05
F1 TEFT 22

(@)1 (0.1 () 001 (d) 0.00k

532x56+5 32x44
(7.66)” - (2.34)

(a) 7.2 (b) 8.5 FL@MO [d] 12
10. Which one of the tﬂngg is the
least? ,f
V3, 32,42 and, ﬁr
T ¥ T tﬂff wEm F9 ° 87
5 Pt 5

(2 J_Qf b) 2 () v3 (@ 4

1 1 “W?ﬂch one of the following is the
bngest ?

, O1s5 , and 1245

aﬂuma@aﬁ’ﬁm%‘?

J2.96 . %15, and 1oss .
(a) ¥4 b) Yo
() Qs (d) %245

12. If 3=8 =272=1 then value of x 1s :
Iy 38 =721, A x F WA 1 &7
(@7 () 3 (-2 (1

YEAR 2000
13. (JE—JZ—JE) equals:
(8 i - 2) % w12

(a) 2 -2 b) 2 -2
(c) 2 (d) -

14. The simplified form of

16.

87

18.
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( 3/2 +l6_3’f2)

(163;2 tf%‘ﬁfg) F ElFd 9H 87

P T

[aJﬂ_‘@»* 2 (b] 409?
AV () 4327

',« 15 [O 01024)%/5 1s equal to :

7 (0.01024)5 F =R 82
(a) 4.0 (d) 0.04
(c) 0.4 (d) 0.00004

3 412
(64) 3 X[Z] is equal to:

2 S
(64) 3 X(Z] F T 22

1 1.
(@1l (k)2 (95 @A

1442 1-42
m*m simplifies to:

1943 14

m H T YA 27
(a) J5+6 [b] 25 + f6

(c) J5-6 (d) 245 -3/6

2:43 2-43 -1
2—J§+2+J5+J§+1

simplifies to:
2+J§+2—J§+ 81
g2-y3 Zvy3 NZ+1
FT GIEA-F 87
() 2-43
(c) 16 -43

(b) 2+43
(d) 40-v3

|71
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53|’ (-1 .
19. [HJ +[mJ is equal to:

(v5ud)? . (Y5=43) ‘
\&=5) +[~E+\E] % qIR §7
()64 (b)62 (c) 66 (d) 68

20. (7.5 % 7.5+37.5+2.5 x 2.5) is equal to:
(7.5 % 7.5 +37.5+2.5 x 2.5) & =wat &7
(a) 100 (b) 80 (c) 60(d) 30

= ()
=

625
(a)

wl

simplifies to :

28.

wle

F1 HEH 22

) >

16

625
32

(c) ) o

YEAR 2002
22. The value of

\’(J_ J_)(J:LJ')
5+J’_
Jwaﬁua@
5+\/§
(a) V6 -2

(c) V6 -2
23. The value of

T HA T H
(b) J&+2
(d) 2-v6

1 2

1E
Tz —Vowo) o)~ Yoordr

1 1

26.

2T

29.

30.

,,,,,

Simplify (W )

1 1
(6.25)2 (0.0144)z +1
1 1

(0.027) x(81)s

(a) 0.14 (b)1.4 (91
Simplify ( & #X ):

(d) 1.4

0.41x041x041+0.69x0.69x0.69
0.41x0.41-041x0.69+0.69+0.69
(a) 0.28 (b) 1.41
(c) 1.1 d) 2.8
Which of the following number
is the least?

) e
(0.5)",+f0.49,%0.008 , 0.23
T ¥ wad S O EE W 22

(0.5) ,f0.49 ,f0.008 , 0.23

(a) (0.5)2 b) o5
(c) 3o.008 (d) 0.23 ,,f
YEAR 2016  “1. U :

If 319 272 = 92 x 3= Jr'the
value of n is

AR 31%% 272 = 92 x&“%’wa‘r N 9+
ECIE
(@) 10 (b) 13“’?} 15 (d) 30

The greates amon the

numbers {2.89)°%, 2-(0.5)?,
Q;"“xw\

1+{—6;rﬁ is :

&

Y T e n‘vmaa‘ﬁ'm 3

\f(289]°52 (052 1+2° 3
J(12— 140)—\[( Jrj f 1—%
HE A H (a) (2.89)0.5 (b) 2- (0.5)
(a) O (b)1 (¢)2 (d)3 3g; 05
24. The value of (¢) 1+ T d V3
s
2

V11+ 2430 O—W ;{"s

31

11+ 2430 - 1 5
114230 HIHA S

(@) 245 (b) 246

(c) 1+46 d) 1+ 5

25. Simplify (W@ =)

(15} + 47) 38} -3x1.5x4.7x3.8
(Lﬂ (+7f {33] -1.5%x4.7-4.7%3.8-3.8x1.5

() O (b)1 (c) 10 (d) 30
72 ||
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32.

. Among 2, #3,45, 32 which one is

the greatest?
T ¥ W W=t wew s s

3.45.45, 2
@F B ©H @B

If (125)2/° x (625) -*/* = (5)*, then
the value of x 1s

g (125)3 x (625) ~1/4 = (5)* g, @ x
F WA TG FL
()3 (b] 2

()0 (@1
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33. The value of

0.13 0.07

(243)
0.25

(7) (49)
{243)

0.25

x (243)
0.075 N (343)0,2
0.07

x(243]

e x(343)

F1 A4M

(7) i
A Fi

x(49)

@2 (b~ (A 22

34. The value of:

\I—J§+\}3+8J7+4J§ is

1’_J_+1||3+ 5'4_4\(_ 1 HH F Ex]

[a] 1, ;{’ B2 (€3 (48
0@04096 is equal to

F-J' %5004096 F TR B

) 12
i

o~ Ga) 4 (b) 0.4
> ] (c) 0.04 (d) 0.004
6. The approximate value of
32 2421
228 os *
312 2401 2
= 1 HE SHT =0
2$28  Vos
(a) 1.0727  (b) 1.0606
(c) 1.6026  (d) 1.6007

23x23x23-1 |

37. ———— 1is equal to
2.3x23+23+1

23#x2.3x23-1

23x2.3+423+1
(a) 1.3 (b)3.3 (¢ 0.3 (d) 2.2
The ascending order of

(2.89)°%,2-(0.5)°,y3 and gfp.008 is

(2.89)°2,2-(0.5%, 5 3K o.008 FI
AR w9 H feg

(&) 2-(0.5)%, 3, ¥o.008 , (2.89)°5

[b] \ls 0.00 :[289]0 5: Jg H 2- [0 5]2
() §o.008, V3, (2.89)"%, 2—(0.5)
(d) V= ,%0.008, 2~ (0.5)%,(2.89)°°

Given ,fp =1.414. The value of

V8+2y32-3/128 + 450 is

fem g o =1.414, @

V8 12432 — 3128 + af50 F1 WA T

F TR 2

38.

39.

Exy
(a) 8.484 (b) 8.526
(c) 8.426 (d) 8.876
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40.1If .fi5 - 3.88, then what is the

value of Jg

af% f5-388 & ‘E 1 H w82
(&) 1.293 (b) 1.2934
(c) 1.29 (d) 1.295

41. The rationalising factor of 3.3 is

343 F UGEFEH PEETE §6 F)
@3 ®3 (©-3 @3
YEAR 2004

42.

The value of 2 +.fg.09— f0.008
~75% of 2.80 is:

2+ /600 — 3o.008 —75% of 2.80 =
A FG B

(a) O

(c) -

The value of

(Y5 +325)

I( 3.5)2 —%Jr(%f} -
(Y35 +3235)

(657 .6

A HL
(@) 5.375() 1 (c) 6 (d)5
The value of

(s02) (3 28) " s

(3+243) " +(3-242)"
1 AF 6
(a) 189
(c) 108

b b,

is equalto
5 3B f’igar
\_JSH_! .\_4'5+J :}5+J
% SUE T
(a) O

(€) 2410

46. The value of

(b) 0.01
(d) 0.001
43.

44.

(b) 180
(d) 198

2f

Jg\

{; N

45

(b) 2415
(d) 26

1 1
+
\3.25 +4/2.25 f4.25 +4/3.25 *
1 ) 1
J5.25 +4/4.25  16.25 +4/5.25

1s :
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h e

1 1
+
J3.25 +42.25 425 +43.25

&l HIH

1 1
+
\5.25 +4/4.25 6.25 + 525
AT H
(a) 1.00
(c) 1.50
o -1
47, 3 +3

——— is simplified to
37 -3

(b) 1.25
(d) 2.25

% FT TAH F #?
@)-2 B)-1 ()1 ()2
1.49x14.9-051x5.1
' 14.9-51
1.49%14.9-051%5.1
14.9 - 5.1
(a) 0.20 (b) 20.00
(c) 2.00 (d) 22.00
(0.04)'* on simplification gives:
(0.04)5 i & FH T WA T4
(a) 25 [b] 125 (c) 250 [dl,,é?s':i v
-(o. 1) {.-»-f

W

'(096) +0096+(0}ﬁ ls_}‘_',:
l\ﬁ ]

simplified to:

is equal to:

A

49.

(096

©5F (0)°

9“@“&? +0.096 + (0. 1)

,,,,,

f \ °‘the form of perfect square 1t will
) be equal to :

Y
¥

s@ (4447) F ol ww A o

S g 98 e ° 9 fees aue em?
1)
@ (2+47)  ®) [—-—J

(©) T(ﬁﬂ [dl (5 +47)

52. The simplified form of
2 7 5 )
+ -
J7els J2-F Jiz-J7 *©

2 7 5
;?+;5+612—;5 _\_)'12—;?
F1 GLEHT 1 7

(@5 (B2 (@1 (o0
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1 1 1
03- e " Jiis 546
1 1

1.
T NT NT+4B JBAP

1 1 1
33+Q4+G4+35+:}5+J6
PR S S
N6 +47 7+8 B8+O
(1 = &)
@V | Bl
() 3- g{; d) 5-45
54. [16]0’%‘“ Kf%]“ 04 x(2)°2 15 equal to:

(Lﬁ]é;i’s x[]ﬁ]o 04 x(2)02 ® e 2
@yt (B2 (@4 (16

{ESQ&SanlLBf (WA HY) -
e )

1 1
J100 — 99~ Jag — o8
1 1
2 _
Jos —J97 o7 —\oe

1
P

)9 (913 (d)11

(a) 10

1 1
3
[ A = Y - 4]

in simplified form equals to:

56.

1 1
[0 0 e =y o
F1 WellFd 7F f5ES e 27

(a)1

1
B4z © g5 @0
[%'_xﬁx%mEJ is equal to

[%x(x%xﬁ] Eﬁa—{ﬁﬂ%'l

(b) &
(d) None of these

57.

(a) 6°
(c) &

_on(2)
58. {(—2)‘- 2}} is equal to :

{(—2)‘_2}}l_2} % a2

(@) 16 (b)8 (c) -8 (d)-—
|’ 73
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59. The value of
0.796 x0.796 — 0.204 < 0.204 .
0.796 — 0.204 18
0.796 = 0.796 — 0.204 « 0204
0.796 — 0.204

F HE

1 27

(a) 0.408 (b) 0.59

(c) 0.592 (d) 1
5.71x5.71x5.71-2.79x 2.79 x 2.79

T 5.71x5.71+5.71x2.79+2.79 x 2.79
in simplified form is :

60

0.71x5.71x58.71-2.79x2.79x2.79
<hl
0.71x0.71+5.71x2.79+2.79x2.79

TTEAFT oA PN 22
() 8.5 (b) 8.6
(c) 2.82 (d) 2.92

61. The value of

7)3 +(3,8)3 _3x15%4.7%38

(1,5}3+(4,
(a7)°

is:

2 2
(15) + +(38) —15x47-47x38-38x15

(15} (47) )3_3x15x47x38
(15) (47) 38) ~15%47-4.7x3.8-38x15

F1 AF T H

@0 (b1 ()10 (d)30
62.[3 - 4(3 — 4)"']" 1s equal to :

[3-43 - 47" & = B

@7 )7 () 7 @ 5

63. What will be the number of

two digits made from the units
and tens digits of the expres-
sion 2'?"—6*" where n 1s a posi-
tive integer?

3 o F 9 FH G TEn S

Di2r_gn g TE ql T SF W % 70. Which of the following is closest 7g

SE 0 TF SAEE QUIE E1 e
()10 (b) 100 (c) 30, (ﬂm

The smallest ﬁs\among

V35 V7 +6 /545 and
V1442 is: |

= § o IR g A E- 5445,
V7 4465 10443 T (11442

(2) V845 (b) J7 + 6

(c) Vio++3 (d) V11 ++42
Which of the following is the
largest number ?

V2, %5, ¥4, 46

74 |

64.

65.

66.

2, 3, Y4, o T W g S
e FA-H 87

(@2 b () 2 @ Y6

Which i1s the greatest among

(V15 - i7) , (Y53 - V1) (V7 - ¥6) and

67.

68.

69.

,,,,,

T1.

(V5-45) »
(Vi3 -417) , (i3 -1}, (7 -6)

aar (V5 -+3) & & wwd =<t wWewn
FA-G 82

(@) Vio-iz () iz -1

(€) V7-5 d 5-42

The greatest number among

2.3, 45 and 1.5 is:
o

¥.45,36 ﬁrlsmumﬂa‘eﬁm
e FE-d 27

YEAR 2007

12

; is equal to
3+v0 +242

mé%a % AU 2
(a) 1-45+y2+416
(b) 1+\(§+\E—JB
(c) 1445 +y2 +10
(d) 1-5 — 2 +JB

7>
g
[3535 : vy T_J & auat 8
f‘(al ) (b) 3
\ Q& 3+43 (d) 3-v3

24 J8-2415 1s equal to :

JLS equal to

@ % BFE ©F @ “5:,{ a-Byfs ™ s &
The value of (d* + d) +d* would be (@) V5443 (b) 53
(d= = d7) +d* T Wﬁ;;ﬂ 7 (© V5-v3 (d3-45
(a) d** (b) 1 [c] ) - 75. [ " %_ is equal to
If x= JngJ_ an’"d = Jg_\ﬁ 8 i 2'22

o il v L e < S
then (x+yreﬂuals

@i, _F-E, [ ., 4
{“k W’gm TT g 41\(27
“cﬁ’ﬁw] H AF 1 87 oo 2 & W g
y(a) 8 (b) 16 I i
() 215 (d) 2(J§+J’ (a)32 (b) 8 ()1 (d) O

a2 26 23 J

. J—'_, m 7§+— 751»_ 18 equal to

- o % e ¥7 22 ofe a3
?’lﬁ g qHET \!5 m £+— Ug+— & T %l
@) 2 (b) 1.75 @3 (B2 (00 (d)3

173 i 1 1 1)
© Too ) 1.6 B [14 a7 710 10.13+13.16J e
YEAR 2006 S

0.75 x 0.75 -2 x 0.75 x 0.25 +
0.25 % 0.25 1s equal to
0.75x0.75-2x0.75x0.25+0.25
x 025 & & 2l
(a) 250

(c) 2.5

(b) 2500
(d) 0.25

Copyright © All Rights Reserved | https://spardha.guru/

1 1 1 1 1
—+— + + =
14 47 7.10 10.13 13.16
T B

(a)

(c)

(b) —
a1
(d) 555

| W=
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137 %137 +133%x133 +18221

84. 2332334+ J500 =2

" 137%137%137-133%133 % 133 al s b
o (@) 436 (b) 324
(©) 644 (d) 916

137 =137+133 =133 +18221
137 %137 x 137~ 133%133 % 133
F a2

85.

@4 (B)270() & () 5o

(@3 B4+ (@6 (d?2

79. The greatest among
NN N I NN R
T o F-m ufitm gaw g9 2

N Sl N S N vl Jirati-a i

@7 )5 ®a= L b4 e
[C]\E—\E (d) \/ﬁ—\@ O Ad HL
80. Greatest among the numbers
5. 5415, 60 is @ & O
9 el W 5 B 3
L o %,Ji\h_ti,% (c) 2++/3 (d) 2-3 ;
(@) Fo (b) 3 (c) Y16 (d) ¥s0 JE i o k.,fﬁi/f;;,
81. The least one among 2+/3 , 245, 87.1fa = NEEE b= =1 :yr\iﬁi}w
: -
Jg and 3.7 is 2, 0 il (&
a® +ab+biy| .
= 9 el B S e 243 ;045 .48 value of [mj}k
W54 f“/_ 5-1
(a) 2\/5 (b) offs qfg a = 25“31\}_,; b= H g, @
(c) V8 (d) 32
82.Given that .f3 =1.732, Then the 2
value of
3+46 - {”“{% Y 3 s
5‘/—_2@_@4_@ 18: f\:;[a] 4 (b) 3 (c) 5 (d) 3
R "_\'\,waf
fmmn g 3 =1.732%, @ ,,(3\ b YEAR 2008

3446 N\ 88.(0.04)9 is equal to
543 QJE@N%;{%% A (0.04)115 = aEmaR 21
(a) 4.899 (b) 2.851) (a) 25 (b) 125 (c) 60 (d) 5

(c) 1.414 89. The value of

(dp1.732"
83 .Given that 5?"}2/':236 and

Ja =1.732, Then the value of

%1372 « Y1458 = 343 is .

1372 « Y1458 = 343 F1 HA F &2
(a) 18 (b) 15 (¢) 13 (d) 12

l -
55+]3 1
2 3 1 .
J5=2236 3T [3=1.732 femr w1 90. [m-m+mj 1s equal to
(" = 3 1
l\_J'STJS _56—:}3 +§6+JSJ ;} T %l

(a)-2V6 b) - 25
(c)— 23 d) 0

%,?fl 75175 FHE T 22
(a) 0.564 (b) 0.504
(c) 0.252 (d) 0.202

info@spardha.guru

91.

93.

O(a)3 c
(@) (b)6 (o) 9

S
f’,}n N

- 099

95.

96.

L2

Copyright © All Rights Reserved | https://spardha.guru/

1 1 1
B AlE ABAT AT
1 1
- m+m is equal to :
1 1 1
Jo V8 N7 T e

1 1

g i F T B
@35 (b1 ()3 (dO0

86.If a = f, then the value of 92. (\E-F\JIT—QJE) 1s equal to

(V2 +47-2/10) % = 3

@ V> Phy7 © 45 (d) o5

If [%3_.4; then 3*1s equal to
afy [@pta- @, o 3¢ Fres U 7
(d) 27

?{.998)2 —(997)2 -45

e
(98) —(97)°
(a) 1995 (b) 195
(c) 95 (d) 10

Given that .[5- 9224, then the

S 3 .
value o T— 15
oJ5 —0.48

. 345
R ¥ (5=22¢ W o og
= HHE F 87
(a)0.168 (b) 1.68
(c)16.8 d) 168
Given that o =1.414, then the

1
value of Bl

5 _ 5 1
oo e & \(5—1.414,31 :E: Eal
oH 1 272

(@) 0.4 14 b)  2.414
(c)3.414 d)  5.414
If [3 = 1.732, is given, then the

2+~/§ .
value of m is

N 2 +J§

afz 3 =1.732Fmwn e, @ Tals
H1 WA #4187
(a) 11.732 (b) 13.928
(c) 12.928 (d) 13.925

JIf x =1 +.p 43, then the value

|
Z 1)

f
Of ‘I i e
|’ 75
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AqH T\ FL

l l
x-1

g x =1 + 543 & [“

15 17
A @42 B (o) - (@ 39
8 8
(a) 1+2/3 (b) 2+43
(c) 3++2 (d) 243 -1 YEAR 2010
1 32+243
99.If x+—=-2 then the value of 106. is equal to
X 32 -2+3
1
="+ —— where n is a positive 32+23 & Gl 2l
X 32 - 2443
integer is
3+ 2\[3
1 (@) 5+2/6 (b)
g x +—=-2 %- ax 1y prveli 0| 2
x "R
s s (c) 5-243 [d) 5+2y3
t i b &
T S, 0 0 PR 197 Simplifed . of
@0 (B2 (¢)-2 (d-
100. If mand n{n > 1) are whole

numbers such that m* =121, the
value of (m — 1)**lis

g m3T n(n> 1) 91 F=AT 79 THR
EfF m=121%, @ (m- 1) = @A
@ y,
(a)¥ (b)) (o) x tf 7’

{(i/xT' )_5"3 ] i

(a) 1 (b) 10
(c) 121 (d) 1000
ERRIG05 {\En V241 J_a‘/wf 1]
108. | 5 T—fq-—-‘ T
101 S e is &mpll.ﬁec{;tp »
’ 3—;8 58—57 ;7—;6

[JM Bl -1 f_l]

Y V3 & E—l B+l 2+
o -5 "5 -2 ETl [ &
@5 (b4 (o3 (d) 2 _ﬁ%{) b)12 (c) 14 (d) 18
102.  (256)*'% x(4]°* is equal to i ],D_?.v "Find the value of x in the

(256)°1° x(4)°% & TR 2

fw; ‘expresswn a1 =2

(@) 64 (b) 16 (c) 256.25 (d) 4, = ey ;
103. The value of ﬁ ' t Yaxe1 =27 x TR W FY
3 6 4 @5
(0.337+0.126) ‘(0'337‘0'1}&43 @) i f;i] = (j]_ .
0.337 x0.126 & 110. - -~

(0.337 + 0. 126)2 -(0.337 - d;és)g

Iqfg 3=+v =81 3iX 81*+v=3 &, @ xFT

()" g g

q.ée

m U’;T 1s P(]_U.ﬂl to :

o7}t

2
1
112. {[_ 2) } is equal to :

(1T st

1
(b)16 (c) —7 (d) -

() =

3.25 % 3.25+1.75%1.75-2%3.25%1.75
3.25 %3.25-1.75x 1.75

113.

simplified, to

g
325><32@ﬁ"y =1.75 —2%3.25%1.75

3‘:25\*625 1.75x1.75

g 2

r‘(a\}oss (b) 0.4 (c)0.3 (d)0.2

O™\ \~"0esxoosxooswozxowxooz -
a?"l}-ﬁl 18
0.08 x0.08 — 0.0016 + 0.02 x 0.02
simplified to :

0.08 x0.08=0.08 - 0.02x 0.02 x0.02
008 x0D.08 -0.0016+0.02x0.02

WeFd HA F1 87
(a)0.001 (b) 0.1
(c) 0.0016 (d) 0.016

115. The greatest number among
260 348 436 and 524 is

T ¥ wad 9gl wem e g

260 346 436 31"“524

(a] 260 (b] 348 [C] 436 (d] 524
116. The greatest among the num-

bers 2 33 45,46 is

T ¢ WA wE wem Fh-E -

(@2 ()3 () #6 (A s

117. The largest among the num-

V7 -5 T+ — .
- w0%337 < 0. lﬁf" N ¢ il 7;:’5-+ 371__4’5;7 & SO T ber‘s‘O.Q, (0.9]3,’\[@,\09 18 :
(a)4 (b) 0.211 (a) 12 (b) V35 T W w A e F- -
(c) 0.463 (d) 0.4246 [c] 6 (d) 235 0.9, (0.9)%, Jo.9,09
04. Evaluate (W@ #): :
valuate ( 112 i g2 z,rl - (a)0.9 (b) (0__9]2
16\}7 J_ if Ji2 =346 equal to (c) Joa (d) 0.9
[ N - Q\EJ F 118 If 33x9275=3%7 then the value
(a) 3.46 (b) 10.38 I(EE%G?J:-, Vo -7 el
() 13.84 (d) 24.22 R M 3=ox92=5=39=7 T x T A -
105. If 3% =81 and 81%¥ = 3, then (a)0 (b) 22
the value of x is (c) v2 (d) 247 (@5 (b6 ()7 (d)38
76 ||
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119.  f3433.. 1s equal to

J3a.. F A R

(@) Vs ()3 (o) 2y3 (d) 3V3
120. The number which when

multiplied with (V3:42) gives
(JI2.++4i5) is

aw % i e & Ft (e E) T
O RO (VT3 +5) W € £
(8) 3v2-2y3  (b) 3v2+23

(c) Ve (d) 2v3-3y2

YEAR 2011
The value of

2+J§+2—J§+J§+1 _
2-J3 2443 43-1 °

124,

2+J_ - J_ Y341 »
243 2443 a1 o
(@) 16+3 (b) 4- 3
(€)2- 3 (d) 2+ 3
122. The square root of 14 +6,5 1s
14 +5 1 T TE FL
(a) 2+\E (b) 3+\/§
(c) 5+\E (d) 3+2/5
123. The value of
sJ_ 4( V6
32 43 Je
J3ivo Voido e S
A\ HL
@4 B0 (© 2 @ éf
124. The value of

/:-fj
1 14 37

T_2+ . +7—73 Py +W‘§ 3 Fgik
1 o
V100 ++o9 *°
1 1 1
N - B2 * Ja +43 *

l L)
3100 +399 R
@1 (B9 (o 199 (d)o9-1

{0.05}2 + {0.41)2 + (0.0?3)2

125. =2

(0.005}2 + (.'3.041}2 +(0.0073 )2

info@spardha.guru

126.The

(a)10 (b) 100 (c) 1000
(d) None of these/T & #iE &l
the

greatest among

numbers

342,347, 645,24/20 s

e § @ wed wE gem W W g
32,347, 645, 2420

(a) 32 b) a7

(©) 6v5 [d) 2v20

The greatest among the num-

bers

Joh AR, 0
Ser F i 58 Geraa &
J0.09,30.064 , 0.5 3t 2

@Joos ) fooes

(€ 0.5 @ 2 A

.
X
The greatest among the -fol-

lowing numbers o .

0.16, Jo1¢ ,(016)’;,400415
= ¥ 9 T W gemeAr o §

3 =
andgls

0.16,.Jo7E @,Cgrmj ,0.04
_f e

(a]0.1{6 ./ [P Jo1e
lCl 064 D (@ (0.16)

’,E‘"he ﬁ'eatest among the num-

hEICS
dﬁf {13416, a1 is

qﬁf\;ﬁnﬁﬁma@maﬁ?ﬁ%

. i3, 16, a1
(a) 13 (b) §16 (c) Wa1 (@) ¥s
If \fo = 1.4142, find the value of

1
2J§+J§+T T

A =1.41428, q

2J2—+J5+—\r T 1 HE T F4

(a) 1.4144 (b) 2.8284
(c) 28.284 (d) 2.4142

£a,

131. The square root of [m

F1 e A H

[«Enﬁ

132.

133.

o )
o’

134.

135

136.

137.

Copyright © All Rights Reserved | https://spardha.guru/

(a) V3 +42 (b) V342

(c) V2 £+3 (d) V23

If 042 x 100" = 42, then the
value of kis :

afg 0.42 x 100 =428, 9 k= °9A
I
(a)4 (b)2

() 1 (d)3

1 1 1
If 2= 3 =6=then | —*—*—
x y

=z

1s equal to

Ay 2x = Fu6-
,@

m@mé?

e‘w b1 () 5

ba (Lh]

Yy =z

d) -5

o ‘_\,»

YEAR 2012
1442 1-42 |
m*ml simplifies to
(1 FEAFT 7)
(@) V5+6
(¢) V5 -6

b) 2J5+46
(d) 25 -3v6
-

I is

.When simplified 556
equal to
4%]

"[ F1 GAFT HE T E7
256 1 2 ¢

(a)8 (€2 (d 5

335

(b) 5

2340 - 43320 + 33625 -

is equal to

2340 - 43320 + 3¥625 -
F T 2l

(@) —2§340 (b) O
(c) 3340 (d) /660

0.355 % 0.5555 = 2.025 |
1s equal to
0.225x1.775 % 0.2222

3is

0.355 % 0.3535 x 2.025
0225 x1.775 « 0.2222

(a) 5.4 (b) 4.58
(c) 4.5 (d) 5.45

F TR B

|’ 77
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YEAR 2013
138. The value of 40, o/z1 1is

40 +Joys1 F A T &2
(@) yi11 bB)9 (97

) ()
75 - 50 =

the value of x is

J_)(Jﬁw’_)

V75 450

1 HE T FL

(@ Vs (b)5 (c) 245 (d) 35

140. Evaluate (¥%a =41)

4
@*’JEJfW—m—Ja

(d) 11

139.If ( then

a7

(@2 B) V3 ()0 (@ 242
1 1 1
141.Leta=m+m§'+ml—5 then
we have

1 1 1
= + +
AT - Y 7=
g,
(a)Ja<18but g=9

(b)a = 18 (c) a=18
(d)a =9
142.If a, b are rationals and

a2 +bf3  =os T 108 — a8 -
J72 , then the values of a, b are

respectively

145. 2, 8

1 1
als t
G or Jap EEE

6 1 1 it
2=t ——t—— 7 ‘
\(E 2+\{§ JE—Q & HEL gl

(a) +(2\[§) (b) —(2—\[5)

(c) 1 d) 2
4423 _

146.EW=A+\[_,&1&18—A13

41343 L

afe m =A+/p ¥, @B-A

F O IE FL

(a)—- 13 (b) 2v13

(c) 13 (d) 33 -7

147.Find the simplest value of

QJ_J_J_[glvenpjg_

=1.414). wh
2J_ Vis —{72 W‘Wﬂﬁ‘ 3
(fea T €:5 =1 yﬁci]& \
() 4.242 5898
() 10. 6312:’%8484
If 11J-:>¢*J1:§+m then the

valug vﬁls
Wlif—ﬂ+@ @ nw
ﬁ;iazn grm?
(a]3 (b) 11

148.

(c) 13 (d) 7

,,,,,

afz a, b9l & 3R 4 24+b3 = J_flf-Fé Which is greater b or 3 ?

+m\j—\/—,%’mabw

FEYI: AT A /
(@)1, 2

()2, 1 () 2 ,éif
143.Let ¥, -¥26+ Qj;.+_g£’t‘-hen

o B Yo = Y26 &7 + Yoz T, M
(a)a<729 but a> 216
(b)a<216
(c)a=T729
144.The value of

V72 x 363 x 175

Ja2 x1a7x 252 *°

V72 x+/363 x 175
J_Q’XMX\[Q? a?f'q'l:f"ﬁl'l'%?

(@2 b e () o2 (@) o

(d) a =729

nr

¥ M 3 ° =G FA 7
|a) Cannot be compared

(e &1 &1 1 HHdl)
(b) 2 ©) V3

(d) Equal (=0=R)
150. The total number of prime fac-
tors in 419 x 73x162x11x10%1s
410 x 73x 162x 11 x 102 % f&m
AN PHETE 27
(a) 34 (b)35 (c) 36 (d)37
151. The number of prime factors in
6333 x 7222 x glit
6333 x 7222 x 8111 3 feficH 217 TPFETE &7
(a) 1221 b) 1222
[c) 1111 (d) 1211

Copyright © All Rights Reserved | https://spardha.guru/

YEAR 2014

152. The value of odaoda ... 1

... A 2
(c)2° (d)2°

(b) 2
~-72% +201960 1s equal

(a) 2
153. 5682 +173

to

55% +173 —72% +201960 % T 2|

(a-1 (k)0 ()1 (d) 17

154. 2032 x 7
(@) 36y2

(c) 168

(b) 247
d) 252

o

\3

) 2n+1

P 243)5 x 3 .

153. Thg qu}ue of (—«)—_-— is
9" x 3"

g- \ )
N (243)5 xsz’“‘

lg 9" x 3"
@3 (B9 ()6 (412
156. The simplified value of

V3 +1)(10++12)(§12 -2) (5 -

( a+1)(10+412)(\12-2) (5-
F1 Hlelldd HE 41 87
(@) 16 (b)88 (c) 176 (d) 132
157. The simplified value of (0.2)® x
200 + 2000 of (0.2)? is
(0.2)* x 200 + 2000 of (0.2) %1
TElET WA F E7

ll@[bl—lCl—[dll

158. Arranging the following in de-

scending order, we get

Ya,42,93.34
= =+ el #9 § Hen-

¥o2.85.95

(@) \3/Z>"dg>\/5>%
b &5 >34 >3 52
© V2>8>4 545
d) 8§53 -4\

159. What is the product of the roots
of the equation ,2 _f3=0 ?
e 2 _f3 =0 & Hgal &
TFEe #1 82

=T HE FE?

Jg) s
¥3)

@) +3 (b) fat
(c) —/3t (d) -3

www.spardha.guru



160.If 2=~ + 20! = 320, then the
value of n is
Afg 2n-1+ 2=1=320 %, & nF 97 I
ET
(@) 6 (b)8

()5 (d)7

161.If _ a2, then the

X
54/5%x5° =52
value of a is

3
R 545 x5%° +52=5%2, %, o a

T HE T FH
@4 (MBS (6 (d)8
162. The value of
37 5v5 2
T o e

37 55 2

542 a7 N7+46
F HA F 87
@1 (B0 () 23 (A7
163. 3* -3*! = 486, Find x

3*-3<1 =486 ¥ xF1 TH T HiI
@7 (b9 ()5 (d) 6
164. A tap is dripping at a constant
rate into a container. The level
(L cm) of the water in the con-
tainer is given by the equation L
= 2 — 2%, where t 1s time taken in
hours . Then the level of water in
the container at the start is
TF 9 9 TF 9 H wman 9w e
&, 9H § UA # W (L EHL) S
L=2-2' = gr1 Jwi= 7 #, S@l t wE
(=i #) =wian &, @ aRd | o H e
L H A7
(&) O cm
(c) 2 cm (d) 4 cm
o

165. The value of W‘,,é
A 1
T f\r o

1

NN

i 'J_ls

T 1. 1 1.
V6 Jo—s \o-2 B
+j T UA I FE2

(@0 (b1 ()5 (47
166. Choose the incorrect
relation(s) from the following;

info@spardha.guru

7 § 9 e day 1 FAE w2
1) J6+42=+5+3
1) J6+42<y5+43

(111) J6 ++2 > 5+ 3
@) @ (b) (1)
() (1) and (u1) (d) (1) and (i11)

167 10+\}25+\}108+\,|'154 ++225 _,

ifs
(@) 8 ()4 (g 1/2 (d)2
YEAR 2015

168.The Simplified value of

J6 +2 B 6-2 o2
JE+J2+J5 J_—JQ—JE 2+\/§

w1 WellFd JE B 2

@26 Bz @5 @O

6°+7°+82+9°+10° N )
169. J7 a3 - \/4+2J—1$e “‘fof

T & €\

(2) 330 (b) 355 (c) w(d] 366

170. (3x—2y) : (Qﬁﬁoﬂ=5 6, then one

o m%fah; ;}’[? 2 AN

nﬁﬁ% 2y) : (2x+3y) = 5: 6, @
R

,,,,,

(b) 1 cm ’;j [I—I]mwmwm?

1
B)5 (0 ¢

1
@)=

171.The value of
1
1+J§+
1

+ﬁ+

d) 25

1 1
2+4B  Ja+a

)

1
+ + +
Vs+6 Vo7
1
8 +

+

18

- %
&

1 1
1442 243 aina

Copyright © All Rights Reserved | https://spardha.guru/

1
N7+

1

NI 5

1 1 1
RSV AN O A N
+7§_i—\/§ = HH F g

(@2 (b4 ()0 (d)1
172.1f /33 = 5745, then the value of

the following is approximately:

afe {33 = 5.745, 1 Fefafem #1 A7F
3
T R €2 \E
(a) 0.5228: (b) 6.32
(c) 2,0855” (d) 1
s o [ssc LDC 12-04-2015, Evening)
173. ’Ehe J exponentlal form of

r\'_:‘fiQx 3 1s:

& “\Mlﬁ

e) W2~z 1 s w87

(2) 67/% (b) 62 (c) 6% (d) 6

1
174.Th | t T
e value of 7 2+ 3

1
1— 2+-\/E 18°
1 1
S T
w1 2?2
@) ¥2 (b) 3
(d) 4(v3 ++2)

(c) 1
YEAR 2017

2-x
175.1f y=——, then what is the
1+x

1 +2y+1
value of — 7 yrl g
2-x, . 1  2y+l
s R M, (i -
Ry 1+x%’m yrl -1 ™
oH F E?
(1+x)(2-x) (1-x)(2+x)
(=) 2x-1 x-1
(1+x)(2-x) (1+x)(2-x)
1-2x @ T 1-x

176.Which value among /11 +./5 ,

Vid+2, J8+48 is the
largest?
| 79
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JT1+45, V14442, JB+4/8
T w92 gen A @ 87

[ﬁlJﬁ+J§ [b] MJH/E
(¢) /8 ++/8

(d) All are equal/Fdt TR 21
177.Which value among 3200 2300
and 7'°° is the largest?

3200 D300 gy 7100 Ha wEY WAl ESE]
= 87
[a] 3200
[C] 7].0-3
(d) All are equal /&t == &
Which of the following relation
(s)is/are true?
fraferfian § & ®R wd 6w ¥ 8
[. 333> 33° II. 333> 333

III. 3* > 333

(a)Only I and II (#Faa I g 1)

(b) Only II and Il(#aa II G III)
(c) Only II (Faa II)

(d) AL T, 1T and III( I, IT e 11T 9+)

[b] 2300

178.

1 2
179.If 46 _ yE ,then relation be-

tween ¥ and y 1s

1

7t xE:y% Al xqa y & o= H:

Tay %:
(a)x =y’ (b) x =y*
(c)x'=y (d) =y

180. Which of the following relation -
1s/are true?

frefafea 4 9 #=F-9 @6 gy
L. (27]13’3 ){13]1,-’2 {{47;1;’5 {{;: N,

II. (23)'7 <(49)"? < 33(“?5
B9 <39 = b

1L (53)° < (41)% {374‘*’1‘

() Only TII/Z7at 1

(b) Both I and TI/ T @enm II 7T
(c)II and III only/ II e III #=w

(d) All relations are false /@t
ey e €

If 2(3x-2)<6-3x and 6x+2 (6-x) >

2x-2, then x can take which of

the following values?

Af 2 (3x-2) < 6-3x 3T 6x+2 (6—

x) > 2x-2 & @ x F F qH 87

g

181.

80 |

info@spardha.guru

(@)-8 ()5S ()8 () -

182.The simp]ified form of (b®x*a’z’)
[b4)(.3 2]/![3.2})4 3] 12:

(b3xfa*z’) x (b*x*a’Z’)/(a’b*z®) =
el &9 7
(a) bPx*a’z (b) b’x%a’z’
[c) bPxPa’z? (d) b*a’Z
If 5-x<1+5x and 2x+3(5-2x)2-
3x, then x can take which of
the following values?
afg 5-x<1+5x & 2x+3(5-2x)2-
3x%, 79 x F1 = 94 § § #4191
Bm?

(@0 (b)-1 (c) 14 (d) 1
184.Common factor of 12a*b®,

18asc?, 36a’b? is:

12a‘b®, 18a‘c?, 36a2b23fz“F'IEi'TTH'@'3‘

183.

1 €2

(a) 36a2 (b) 108b2

(c) 6a2b? (d) 6a? f
185.Coefficient of x* in [)gj-%[ﬁ)

4x)(4x-7) is: >

"
(6+9)(6-4x)(4x-7) | X I gum‘ 1 87
(a)216 (b)-4 (c) f@éxm ‘108

186.1f 2 3<5+ x and“5- x<1+5x,
then x can xgﬁﬂ which of the
fo]_low1ngfv°’al‘k!és'-’
Mg 2 3 <5+ x 3R 5- x<1+5x &,
At x (i we & F W B
(a) 1) B1 @0 @ o

187gf§««4[x+ 5 -3>6-4x > x— 5,
then the value of x is:

......

f\xzrﬁ4(x+5] 3>6-4x> x-5

€, dl X % ¥ °4H 87

@-2 B)-1 (¢3 (d)4
188.1f 5x+2<4x+1 and 2(x4)-2< 4x

1, then x can take which of the

following values?

A Sx+2<dx+13i 2042 <4x-1

¥, o x fe ¥ 9 frw wm @) o v £?

@0 B2 ()4 -2
189.1f 4(x+1)-3<3-x<2x+5, then the

value of x is:

4(x+1)-3<3-x<2x+5 &, @ x ® F

o €2

@-1 B0 (-2 (d3
190.1f 5(4-x)-4<3x-2>4x-6, then the

value of x is:

af% 5(4-8-4<3x2>4x-6 T, T x F

1 A B2

Copyright © All Rights Reserved | https://spardha.guru/

(@3 (1 (g2 (d5
191.1f 2(5x-4)-2<2x-1<4x-2; then the

value of x 1is:

iy 2(5x-4)-2<2x-1<4x-2 &, @ x

T A 87

(a1 (b)0 () -1 (d)2
192.1f x+3<2x+4 and 4-x>3x-2,

then x can take which of the

following values?

AR x+3< 2044 B 4-x>3x-2 B,

@ fr 5 9 x w9 w27

@2 (-2 (g1 (d) -3
193.1f 5x+5>242x and Sx+3<4x+5,
then C%;l take which of the

follodwlng" values?
AR BRA5>242x R 5x+3<4x+5
%‘* 49 x @1 WH =82
@3 2 @83 @1
"Lg4 If 5x -4<2-x and 4x +5>2x-5,
then x can take which of the
following values?
aft 5x -4<2-x 3@ 4x +552x5 §,
a x H AE F Em?
(@)3 ()6 () -7 (d)-1
195.1f 2x-2(3+4x)<-1-2x>-5/3 —x/3;
then x can take which of the
following values?
afg 2x-2(3+4x)<-1-2x>-5/3-x/3
&, X 9 g2
(@)l (B2 (-2 (d)-1
196. Coefficient of x in (x+8) (6-3 is:
AR (x+8) (6-3x) § X F TF 2
(a)18 (b)30 (c) -18 (d) -30
197.Coefficient of x? in (x+3)(3-
2x)(4x-2) is:
(X+5)(3-2x)(4x-2) H X F TIF 2
(a)24 (b)32 (c) -24 (d) -32

(ﬁ_ﬁ);(ﬁ+\/§) ,then

198.If N =
; 1

what is the value of N + ﬁ?

o N= (V7-8)/(N7+3) & 4t

1
N+§a?l'qﬂa?1'l%:\"ﬂ?

(@) 242 (b)) S (c) 10 (d) 13
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Jio +

199. Which one among

Va1 3T T

1s the smallest number?

Jio + o, i+ V7T H®
Tad D Hem A o 22

(a) Vio+J4  (b)Vi1++f3
(c) 7+47  (d) All are equal

200. Which value among i/;,{/ﬁ

and Y1257 is the largest?

7.3 v Rhos7 # wad wd

gen a1 | 87

(@) i1 ) 47

(c) K1257

(d) All are equal/®sft swER &
201 Which one among 36, 2[5 and

Efﬁ is the largest?
Y6, 25 7N §12¥ | wEE = FH
a1 &7

(@) 36 (b) 35 (o) $h2

(d) All are equal ( lHkh cjkcy gS)
202. What 1s the value of positive

square root of 14+6J§ ?

14+6 [5F1 9o A F AE

F 87
(@)3+y5  (b) 3-/5
(©5+y3 ()543 5’

203.T 2x -1<5x+2 and fﬁifééﬁ_ax,
then x can take w 1}{1 of the
following Value,gJ N ¢
afg 2x-1<5x+2 31‘!; 2x+5<6-3x T,
@ x = W # " o wE s
@l (B0 ()2 (d)-2
204.If x+2(3-5x)>-1-2x<5-x/3, then
the value of x1s
Afg x+2(3-5x)>-1-2x<5-x/3 ¥, @l
X F A 27
(@)-3 (b)-4 (c)2 (d)3
205.If x+3 < 4x+4 and 5(4-x)-4 > 5x-2,
then find the value of x

info@spardha.guru

Mg +3<4x+4 AR 5(4-x)-4 > 5x-

2%, 99 X 1 = °H Bm?
@2 (B3 ()1 (d)-1
206.What 1s the wvalue
1 1 1 1
- +—
1x3x5 1x4 3xdx7 4x7

1

1
t
SR T R0 TxlD o0

terms, then what is the value

of S?

1 1 1 1
= + + +
1x3x5 1x4 3x3x7 4x7T

+ ! + ! +
Sx7Tx9 Tx10
T E, d S & Am Fm E?
(a)6179/15275
(b) 6070/14973
(c) 7191/15174
(d) 5183/16423 ;
207.Which of the following is {r&éﬁ
Frferferm A & = w1 w? R’

—
—
—

e,
d{agﬁi{nlyl/ Foe [
“(b] Only 11/ %= 11

......

f 2 [c) Only III/@=a III

T,
@3\‘..3‘}

(d) Only IV/ @& IV
208.Which of the following is true?
frefafed & 4 w7 W w1 22

f1-J7-445
I. 7 -311-445
. Jf7-445-311
IV. 425> 7 > 311
(a) Only I/ @a@ 1
(b) Only II/ s II
(c) Only III/ss@ III

(d) Only IV/ @ IV
209.What is the value of

4600+J540+ 12804250 +436 2

Copyright © All Rights Reserved | https://spardha.guru/

of S=

4600 +4/540 + 41280+ \f250 ++36

=1 A TR

(a) 69 (b) 68 (c) 70 (d) 72

1 1
+ + +
1x2 1x4 2x3

210.IfA =

1 1 1
=& +
4x7 3x4 Tx10

terms, then what 1s the value
of A?

upto 20

1 1 1
= + + +
AR A 1x2 1x4 2x3
1 »

4xT), 344 7x10"
?‘I‘lx&?ﬂm 87

@*;3?’9;308 (b) 171/140
_(9)379/310 (d) 420/341
;211!“‘(333 + 3% + 333) (233 + 2%9) =
4 ,e’ then what is the value of x'-’
af (32 + 32 + 37 (22 + 2%) = 67,
B A X AE =R
(a)34 (b)35 (c) 33
212.Which of the
statement(s) is/are true?
Frafafas womFad § & ®H-9UF
W 227
L (65)¢> (17)* > [12)/°
II. (17)"%> (65)'° > (12)/°
I (12)° > (17)4% > (65)/¢

.20 & 7% ¥,

(d) 335

following

(a) Only I/=a@ 1

(b) Only III/%ae III

(c) Only II/=3a 1T

(d) None of these /W 4 FE &
IfP = 7,4./3 and PQ = 1, then
what 1s the value of (1/P2) + (1/Q?)?
at P= 7,43 70 PQ=1% 4t
(1/P2) + (1/0Q? = |H =1 22

(a) 148 (b) 189 (c) 194 (d) 204

213.

214. What s the value of
1 . 1 . 1 9
0.2 0.02 0.002 PR
terms?
1 1 1 5
02 0.02 0002 " . 9 W T

w1 HA T 8
(a] 222222222 (b) 111111111
(c) 555555555 (d) 525252525

|" 81
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215.If -1 -

— then what is

() 27777777.5 7531981909

14 1 8 (d) 25555555.5

et 220.f M=0.1 + (0.1 + (0.01)> and N
1+i = 0.3 + (0.03) + (0.003)?, then

the value of x5 what is the value of M + N?
; 5 I M = 0.1 + (0.1)* + (0.01)2 wen
"ﬁl_1= g al x H A N = 0.3 + (0.03]? + (0.003)* ¥, =t

L M + N &1 ¥4 1 87

1% (a)0.411009 (b) 0.413131

T B7 (c)0.313131 (d) 0.131313
(a2 ®m3 ()1 (d4 221.Which of the {following

g statement(s) is/are TRUE?

1 1 1 1
a6t (13 13 10g) (3] VT +7 <410+

(303 (3)on

then what 1s the value of x?

RTINS

1 1)/, 1 1
1—=||l-—=| [z =142 &5
(-3)0-3) (-3t aa

X H HA 7 87
@6 (b)8 (c) S
217. What 1s the value of
1 1 1
+ + +
3x7 T=x11 11x15
1
——
899x903
1 1 1
+ + +
3x7 Tx11 11x15
1
899x903

(d) 7

F1 WH F E7

(2)21/509  (b) 18/403
(c)25/301  (d) 29/31

218. What is the value of

123454321 ?
V21 +4/12321 +4/125%
V123454321 ?-Fﬂ{ﬁlﬁ SR

(a) 12345 (b] 123456

(c) 12344 (d) 123454
219.If A = (1/0.4) + (1/0.04) + (1/

0.004) + ... upto 8 terms, then

what is the value of A?

I A = (1/0.4) + (1/0.04) + (1/

0.004) + ... 8 W 7k &, A A &1 A

=71 87

(a)27272727.5
(b) 25252525.5

82 |
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;(? j 223 Which
J121+412321 +J123432f X

1. 17 +11>15+13
frafafad § ¥ S° WA Fo91 w9
T2

(a) Only 1/ 1

(b) Only II/%aa 11 _
(c) Both I and I/ 1 3R H,,f
(d) Neither I nor IT/7 4 Iﬁqﬁﬁﬁ

?

222. Which of the wing
statement[s] LS/arﬁe TRU ?
. 346 > ¢ |
II. J_5>J_2f,m_
. 45 g1y 42

4+ ﬁmﬁ‘ﬁ'ﬁﬂaﬁammaamm%@

:a}»f)m?i‘”"l and II/%aa 1 i 11
fﬁ:)‘{)nly[ and IIT/Zae 1 3w 1M1

tc] Only I/%=a I

[d]A]l are true/qdsdt & 2

of the {following
statement(s) is/are true

frefafer § § FH-m FoA 99 87
(64 +4/[0.0064) + |[(0.81)
+.{(0.0081) = 9.07

II. ,(0.0010201) +,/(98.01)

+.f(0.25)
(a) Only I/#a@ I
(b) Only II/%aa 1T
(c) Both I and II/I 3R II g
(d) Neither I nor II/5 @ 13 & II
224. Which of the following

statement(s) is/are true

frafafes o 9 FH-W F9 99 27

,,,,,,

=11.51
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L{0.7)+(0.077 +(11.1*>123.8
I1.(1.12) +(10.3) +(1.05)* > 108.3
(a) Only I/=#=a I

(b) Only II/#sa 1T

(c) Both I and I1/I & II M

(d) Neither I nor I/ @ 19 & II

225.Which of the following
statements(s) is /are true?

frafafes § ¥ $9-wm $om T3 27

1 1 1
+ +

o’
j
}M 1 1 1
-f‘ 1><2 2><3 3><4 """
o3 %\M
e/ 1 1
12x13 13

(a) Only I/==w I

(b) Only II/F==1 1T

(c) Both T and 11/T =it 11 &1

(d) Neither I nor II/A @t 19 & 1I
226.Which of the

statements(s) is /are true?
Frfafad § @ #F-w FoF 99 €7
I. 3/71<5/91<7/99

following

II. 11/135>12/157>13/181
(a) Only I/®s@ 1

(b) Only 11/%a@ 1I

(c) Both I and II/I 3R II g

(d) Neither I nor II/5 @ 19 & II
If1+(1/2) +(1/3) +..+ (1/20)=
k, then what is the value of (1/
4) + (1/6) + (1/8) +...+ (1/40)?
afE 1+ (1/2) +(1/3) +...+ (1/20)=
k& d(1/4)+(1/6) +(1/8) +..+
(1/40) @1 WE 1 grm?

227.

(a) k/2 (b) 2k
(c) (k-1)2 (d) (k+1)/2
228.Which of the following

statement(s) 1s [are true?

Trefafem § 9 $H-9 F99 99 &7
V545 > 47 ++/3
II. /6 +V7>V8+5
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L /3449 >v6+/6 11 I.. \/0.64 + /64 ++/36 +/0.36

230.If (X) = ————, then what is - 15
()Gl Tt 1 the val xof)CJr1 focrfafas § 9 #7 WA ¥
. e value : 2
(b) Only I and II/#a« I &R 11 £ (1)+£(2)+£(3)+.. (10)? Ty Y 94
(c) Only II and III/@aa I & III L. V121 +412321 ++1234321
(d) Only I and III/%=a I 3 111 A (X) = E_E’ € f(1) +f =)
229.What is the value of 1/(0.1) + PO P S e L S
1/(0.01)2+ 1/(0.5)>+ 1/(0.05)2 )9/10 b) 10/11 J0.36>15
1/(0.12+1/(0.01P+1/(0.57+ 1/ ©11/12 () 12/13 (a) Only 1/ e 1
(0.05)* =1 7F 1 7 231.Which of the following (b) Only II/@ae II
statement(s) is/are TRUE?
(a) 10504 (b) 10404 o T T (c) Neither Inor I/ s @t 19 & 1II
(c) 10004 (d) 11400 = 1233 d Bot;(ym.nd 11/ T @ IO 20
S
';:i. S
A — {M
‘J°ANSWER KEY “F| o7
-
o\U
_©)
1. (o 25. (c) 49. (b 73. () 97. (b) 121.(a) [ 146.d]]  169.(a) 193.(d) 213.(e)
2. (g 26. (d) 50. (g 74. (c) 98. (a) 122.b) [, 146.(0 170.(d) 194.(d) 214.(c)
3. (@ 27. (g 51. () 75. (d) 99. (c) 123. (b PN - (bl 171.(a) 195.(d) 215.()
4. (o 28. (c) 52. (d) 76. (c) 100. (d) 124.(b)/ | }148.(d) 172.(a) 196. (c) 216.(b)
5. (¢ 29. (b) 53. (o 77. (b) 101.(a) 125 (b} &4 149.¢9 173.(¢) 197. ) 217.(c)
6. () 30. (o) 54. (b 78. (c) 102.(d) e o3| 150.(¢ 174.(c) 198.(b) 218.(c)
7. @ 31. (a) 55. (d) 79. (b) 103.(a) ML& 151.(a) 175.(e) 199. (5) 219.(c)
8. (o 32. (d) 56. (g 80. (a) 104.(a) 128‘5{bp 152.(a) 176.(c) 200. (a) 220.(a)
9. (o 33. (a) 57. (b 81. (¢ 105.(c) f}m (d 153. () 177.(a) 201.(b) 221.(a)
10. () 34. (b) 58. (a) 82. (d) 106. (a4, ) 130.(b) 154. (g 178.(d) 202. (a) 222.(a)
11. (a) 35. (b) 59. () 83. () 1074/ 131.(a) 155. (b 179.() 203.(b) 223.(a)
12. @) 36. (b) 60. (d) 84. (o) 6%%{373 132. (c} 156. (g 180.(a) 204.(a) 224. (b)
13. () 37. (a) 61. (o) 85. (b) 094 (d) 133. (a) 157. (b 181.(d) 205.(c) 225.(b)
14. (b 38. (b) 62. (o 86. (a) o~ H0.(a) 134.(c) 158.(a) 182.(c) 206. (b) 226.(c)
15. (o) 39. (a) 63. (b 87. (bl _)111 (d) 135.(d) 159.(d) 183.(d) 207. ) 227.(c)
16. (a) 40. (a) 64. (d) 88. asrc? 112.(a) 136. (b| 160.(d) 184.(d) 208. () 228.(b)
17. (o) 41. (d) 65. (b) 89, (a) 113.(c) 137.(c} 161.(a) 185.(c) 209. (b) 229.(a)
18. (o) 42, (a) 66. (d) fsQ_,xc} 114.(b) 138. (c| 162. (b 186. (1) 210.(d) 230. (b)
19. () 43. (o) 67. (c) | _“9L (a) 115.(0) 139. (b 163.(d) 187.() 211.(a) 231.(d)
20. (a) 44. (d) 68. ()4 392. (o) 116.(d) 140. (cf 164. (b 188.(d) 212.(5)
21. (a) 45. (a) 69. ff 93, (q 117.(d) 141.(a) 165.(q) 189.(h)
22. (o) 46. (a) 70.{(p) |° 94. (d) 118.(c) 142. (a) 166. (o 190.(a)
23. (a) 47. (a) 74 @) 95. () 119.(b) 143.(a) 167.(d) 191.(g)
24. (a) 48. (o) ‘3‘;3031 96. (a) 120.(c) 144.(d) 168. (d) 192.(c)
o &‘--:,;w
xf-\s "/\’
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